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1.

A, B, C and D are four different physical
quantities having different dimensions.
None of them is dimensionless. But we
know that the equation AD=C In(BD)
holds true. Then which of the combination
is not a meaningful quantity ?
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2 ff};fizglia‘giiais f\ﬁ lss’u glo‘gufa‘; fhgtrii T -3 TR =1 @1 ¢ o THA “ TR AR M g0 sR1edl 581 R edl 2110 Bisdl 818l
centripetal acceleration at time t is given @R 12 R 12 R T S Tohal B, A&l ‘0’ 3R qiuusm ol w2 el Zld ald 52 © % U d-l
by n?R t> where 1 is a constant. The power T T 0 TR E I NI SHH! & T e Segall WAL 2 R 12 ol 20 USL; el 1 L
delivered to the particle by the force acting ¥, 2005 O, dl 501 U ARLAL AL o 5019 HAAL
't, is : Iy
(()11; ! ;\S/I 2R (1) Mn2R2t CICEREIRIINTY Y2l
@ MRt (2) MnR?t (1) Mn?R%t
50 (3) MnR2f2 (2) MnR2%t
(3) MnR%t ) o 3 MuReR
1 —_
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3.

Concrete mixture is made by mixing
cement, stone and sand in a rotating
cylindrical drum. If the drum rotates too
fast, the ingredients remain stuck to the
wall of the drum and proper mixing of
ingredients does not take place. The
maximum rotational speed of the drum in
revolutions per minute(rpm) to ensure
proper mixing is close to :

Shehie THeRT=R oM & fod dife, 3 qen A<t
! T U SRR H H Sl W@ e | Afg
T ! YUH-TI(d 9gd o1 3l a1 Geeeh SH i
AR § foge wd € iR fae=r i & =
Sar| afe gm0 ot 559 1.25 m ¥ 3R sqent
¥ Sfaet §, 79 o=t e o 31 & o
Wﬁw&uﬁ;ﬂ—ﬁrpmﬁ%:

2

wi5 250Ud sl AGUsII SHHL Ridlee, u2aR
v 2l o s34 silse BBl duir s
29 8. ¢ ot g3 WA & »sugl 50d 82 dll
[Rsio1 s3el el il [Eenan 22l sd © 21
e, Ao (sl otrell 2usig) A8l dl wkenal
uld Bl (rpm) AL ugul, dod BEgL ol
Hieedl guedl et stelly 2su Al

(Take the radius of the drum to be 1.25 m (1) o04 495l ¢al. (Ul Bistl 1.25 m 24 |l 218
and its axle to be horizontal) : 2 13 U (Bilder © 3 QRl).
(1) 04 3) 80 (1) 04
2 13 @ 270 2 13
®) 80 (3) 80
@) 270 @) 270
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4.

Velocity-time graph for a body of mass
10 kg is shown in figure. Work-done on
the body in first two seconds of the motion

10 kg =AM % U o foral Sv-wwg 7T =
H fen 81 fie W wee 2 9. # fopn 0 w1

3

10 kg £ G414l UgLel Hierll L-HHAAL 2udv
2il5[dul el ©. uglel W2 My 2 As-sui Adl

is g alld g3 ad s 2.
v (m/s) v (m/s) v (m/s)
50 ms—1 50 ms—1 50 ms—1
(0, 0 10s ¢ (s) ©,0) 10s t(s) ©,0) 10s t(s)
(1) 120007 (1) 120007 (1) 120007
() —12000] (2) —120007] () —12000]
(3) —4500] (3) —4500] (3) —4500]
@) —9300] 4 —9300] 4) —9300]
5. In the figure shown ABC is a uniform wire. @ ™ fo § a8 ABC U& 9HH g afe Q’tl§[%l'4{'t eallet Yoyl ABC 2 U AR O, o
If centre of mass of wire lies vertically below Hefa-sg foig A FFeair = foa §, @ e, geiet g 5 A A Bl L S|
BC
int A, then — is cl : BC . . BC . .
point A, then AB is close to o5 T E du dl = 4 et A o 2L
A A A
60° o
5 c ; 60 - 00
1) 185 B c
( ' 1) 1.8 1) 185
() 157 2 137 2 137
©) 15 G) 15 G) 15
4) 3 '
( @ 3 4 3
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6.

An astronaut of mass m is working on a
satellite orbiting the earth at a distance &
from the earth’s surface. The radius of the
earth is R, while its mass is M. The
gravitational pull F- on the astronaut is :

(I)  Zero since astronaut feels weightless

geeit i Hag ¥ ‘i’ g0 W fEd Tk SWE W
Teh ‘i’ SHM T AR HH H @7 |
gedt &1 geA9H ‘M al B ‘R § 1 a9 39
RIEIR U RG RICRIC K I

(1) I, HifR 98 AT AREHT TegH Rl

4

yeeldl wwelell 1 Glud 2 kel s
Wedideul m g sedl vollvrlrAl s 82 ©.
YeeflHl Bsedl R © sz d €00 M 8. wallouAl
W dpld aRceusyl vl Fis 6L

1) A, $1R6L S wollnul dsrz(ed

0 0<Fs< G]Vim 7l Raldui 9.
R GM GM
@ O<k<—7 @ 0<k<=7
3 GMm <F. < GMm R R
R+m2 °  RZ
( ) GMm GMm GMm GMm
®) 7 <fc<—3 @) ———s <fg<—
GMm (R +h) R (R + h) R
4 Fe= 7
(R +h) GMm GMm
4 F=—"75 4 Ffk=—"7%
(R +h) (R + h)
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7. A bottle has an opening of radius a and Teh St o g ohi 3391 ‘0’ & e ol b’ B 25 ofledAl Aol Bstl g 21 doud b 9.
length b. A cork of length b and radius T b’ A 3R (a+ Aa) 91 (Aa<<a) a1t gl galedl yover, b doudel 244 (a+ Aa)
(a+ Aa) where (Aa<<a) is compressed to fit o o : N .
into the opening completely (See figure). W@Wgﬁﬁ{ﬁwgﬂﬁmw%gﬁlﬂ sedl (Aa<<a) L Bt 8R1etdl o geleryds
If the bulk modulus of cork is B and <fEd) | 4fe 1k o1 STEA JATEr 0T B el Glledrl AU CURLA YRl it s3] 2419
fricl’ii(?nal C}i)efﬁ;ierflt betwee(li'l t(l;e bottleh alllld T qen siae iR ek o S E-TOn u S, o ol 58 RUlRAMSAE B & 217
cork 1s u then the force needed to push the I . N : N 3
otk it the bottle i - Tl Tk b1 He W @M & ford eTrevas 5 © lled Q'»ﬁ o AL gyells p S \cﬁ o{2
ol gl o3zl vo %2,
L = a
i I =
b g f
i f
(1)  (muBb) Aa (1)  (muBb)Aa (1)  (muBb) Aa
2) (wuBb) A (2) (27uBb)Aa 2) (wuBb)Aa
(B) (7uBb)a ®)  (muBb)a (G) (7uBb)a
4) (AmuBb) Aa (4) (47uBb)Aa 4) (AmuBb) Aa
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8.

A Carnot freezer takes heat from water at
0°C inside it and rejects it to the room at a
temperature of 27°C. The latent heat of ice
is 336 x 103 kg ~ L. If 5 kg of water at 0°C is
converted into ice at 0°C by the freezer, then
the energy consumed by the freezer is close
to:

Teh ST RIS 370 37T 0°C TR W gL A 9
ST TIehY I HAL ok dTTHM 27°C T F=hifaa
AT T | T Y T A 336 x 103 ] kg~ 1 T
I ISR T @M 0°C W 5 kg 5, 0°C WTH H
TSN & T HoISTL G TUTE T8 Sl ST & -
(1) 1.67x10°]

6

25 sidle errer welligl 0°C a6y
UM 27°C drvMie AL SRR §5 8. 18l
der2 (9) 6™ 336x10°T kg~ 1 ©. ol
RAper224i 0°C o 5 kg Wl 0°C eizgul 3uicRld
539 €l ol (povrer e Glsd Al
A5 YU HRACRL.

5
8 122 i 186; (2) 168x10°] (1)  1.67x10%]
3) 151%10°] () 151x10°] (2) 1.68x10°]
. i i
@ 171x107] @ 171x107] (3) 151x10°]
@ 171x107]
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9. Which of the following shows the correct | 9, ferelt sreel i1 & fordl fer Ao RsHh o | 9. l2l 2utd 2usldzil U5l 58 2ug0n 24240 draq
relationship between the pressure P and ‘P A T ‘g ok S Hee o ford e H 9 28 2HUERL Ay HE EAIRL P’ A Urdll p 2L
density p of an ideal gas at constant , ~ .. A
temperature ? -1 o W 7 il Hofy gld ©.

P P P \
1) 1) 1)

O p O p O p

P P / P /
) (@) 2

e} p O p O p
©) \ o) o)

@) p @) P @) p

P P P
@ / @ / @ /

O p O P e p
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10.  Inan engine the piston undergoes vertical | 10, T o/ o1 fRET 7 cm M 1 WA-3Td- | 10, 25 2A[oyetui e Ged (Bl 7 em Al
simple harmonic motion with amplitude T FealeR § o W 81 e & W & SRR A& SHM (.21101) 52 ©. Mgl
7 cm. A washer rests on top of the piston N N <~ - N
and moves with it. The motor speed is YR T@1 T S 35k Tl = & | He Y M GuR 2 kR -l il o 2l 82 5. [izen
slowly increased. The frequency of the -k I St © 1 e o0t eTgfa i @ aifd sl ezl su dlell daaRaml 2ud 8.
piston at which the washer no longer stays AR TR 1 |19 SIS T 8, T8 T S AR (MRl Awéld s1¢l & a [Mreddl o33l
in contact with the piston, is close to : (1) 0.1Hz Q)tlci[%l A rt@&-j) Yo ¢ N
1) 01H ' '
EZ; o HZ 2) 12Hz (1) 0.1Hz
2Hz
Ay ¢) 0.7Hz 2) 12Hz
7 Hz
4 19H
4 19Hz @) “ () 0.7Hz
4) 19Hz
11. A toy-car, blowing its horn, is moving with 1. T H B & 5 m/s Hl R N .
a steady speed of 5m/s, away from a wall. T | Teh SR H A Teh Ak bl RS [ 11 245 i avusdl 2ussidl s Eana ol g2 ks
An observer, towards whom the toy car is W1 39 Afed &l 55ﬁ€/@f. E:ﬂ'&;%ﬁﬁ%l afg 5m/s Al 20 2eul afd s O, s
moving, is able to hear 5 beats per second. T § &t # G 340 m/s T, 9 TH HI 2adlsHsR, 3 wvell drs sl 512 AR 82 S,
If the velocity of sound in air is 340 m/s, 5. ~ - . . NN .
the frequency of the horn of the toy car is Tegrel ST € “s H&-;S‘-ll 5 ¥UE (be\ats)\ e ?'c R
close to : (1) 680 Hz talfAdl 991 340 m/s 1Al 1AL €Al 2ugft
(1) 680Hz (2) 510Hz Al Al gal.
(2) 510Hz (3) 340 Hz (1) 680Hz
(3) 340Hz (4) 170 Hz (2) 510Hz
(4) 170 Hz (3) 340 Hz
(4) 170 Hz
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12.  Within a spherical charge distribution of | 12, STERI-=F p (r) * Tl Mefa-smEa-fomo, | 12 p(r) wvedl ol Bgdenz Qe w2, 253t
Chffrge dfenstltzﬁpl(()’ \]/\] f‘g‘\l;f{]"tfz‘z%l % oX N gafgya-gw3, foast fava ? Tor T1s Toperreenens ry Blodl aziadl 214
e Ay ? Av20) are drawn and Vo, Vg+AV, Vy+24V, ... Vy+NAV Vi Vo+AV, Vy+24V, ... , Vo +NAV
have increasin,g radii (AV>0), 3TRfEd T T § R 3t e (AV>0) s/2¢, RRldHA aRiedl N 1R
Tor T1r Topeeeeenenn. r, respectively. If the FH 1y, 1y, Tyl &1 ATG ST AT HWZl (YB) SR 2 ©. V, 24l AV Al
difference in the radii of the surfaces is e, TV, A9 AV % A % ford, e ¥ ottdley Y24 U2 st A Bisal @Al dgletdt
c;)nstant for all values of V; and AV then : — 221, 23 QL <l
Ez; ,,8 < constant O pl)ar 1) p)ar
p =
1 2 p()=9R 2 p) = =0
@ pl)a— 1 1
3) p(r)a; €) P(r)a/;
@ »()a iz 1
r @ p()a—= 4) ;o(r)ar—2
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13.  Figureshowsanetwork of capacitors where | 13, o Sl =1 fierm <t €, W1 ofeh oF 8 | 13, 2ugliul dairsidl odg deds guld © sedl
the numbers indicates capacitances in oI Soid €1 A 9 B % ot T e 3Ualeaddl oyl qvia Hor A 3Ualezd
micro Farad. The value of capacitance C if - ) o~ o~ = >
the equivalent capacitance between point 1 wF B o ferd C ol e g1 =fed WPsEASAL Y m@ 8. ol A i B 423
Aand Bistobe1 uF is : c . uRewl Sudlerx (RiaRsdl) 1 uF stdd €ld dl
c . Ae] I l l Hers C o Yt A2,
A—] | l l 8 —— —4 < y
8§ —— 4 L A I 1 l l
T 1 l_ 8 4
—L( — 2 :_ T T
L1, 19 L¢ .
2 2 T - L1, 5
B
) 2L uF T B
31 O T a1
(1) 53 #F (1) = uF
32 23
32 ) 2—3 uF
@ 2 uF @ 2 uF
33 23
33 @) 2—3 jas 3
G) 5 wF 3) 22 uF
23 34 . ©) 23 #
@ 3~ (4) oy HF
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14. The resistance of an electrical toaster hasa | 14, foSiell ¥ 9o Al SRAF ARG R ATAE G | 14, 215 Sasgls 2l2eAl Al GUuIdL E3341A, dAluHiA
temperature dependence given by _ _ SN siol _ _ 3
R(T)= Ry [1+ a(T—T,)] in its range of w&ed R(T) =R, [1+ (T —Tp)] 81 e T AL el R(T) =Ry [1+ (T Ty)] 4
operation. At T0=300 K, R=100 Q and at % | TO =300 K 9¥ R=100 Q % adg71 BUYYLHL 2 . TO =300 K Hi2
T=500 K, R=120 Q. The toaster is T=500 KW R=120 Q §1 =200V R=100 Q 2+ T=500 K 42 R=120 Q ©.
connected to a voltage ZOIHCG at 200 V and HIa ¥ T T, T SHHN AN 300 K ¥ TH 22z s 200 V -l ey Ggor wdl shél dd
its temperature 15 raised at a constant rate A X W TGH 30 s H 500 KT ST g1 ad Al 24240 €2 300 &l 500 K Yyl ad sveun
from 300 to 500 K in 30 s. The total work L - - N N 2 -
15 15 AL qaRl el Wi o33l ga sl
= 400 In —
(1) 400 In =] 1) m3)
2 2 400 In E]
(2 2000n 2] (2 2001n 2] (1) 13
2
5 200 In =
@ 4001 2] @ 4000n 2] @) n 3l
4) 300] (4) 300] (3) 400 In % J
4) 300]
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15. Consider a thin metallic sheet |15 T udell u1g ¥e 5 o oo @l 8 &R | 15, ol 2eisl &3 B i, Yactsell Uored dot 24
;fggf;‘glf;ilf; t;pg;r{lj?emogl the paper o 3 feraé fe 21 ‘0 & o AT - v svedl 2 asusll Al vie fvia adl
magnetic field B going into the plane of the asr B T =c W@ § | JERA- & 36 HHad 759 algel wdol dlsa (y) 4 edqal dl.
paper (See figure). If charge densities o; and T g9 @ g | AfE 39 v Hi a6 iR IR (2t oy2il) oA el siofl 2t srmell Awel W
o, are induced on the leftand right surfaces, TR TSI TB-ST-FTA o T o, AR 2459 0y 2 0, v2ell YBEYAMR rdl Ggedl
respectively, of the sheet then (ignore e § q9 SUA-TE F 0T T €U a 5l ([yeoy 242 240191
fringe effects) : ’ . —— ‘
oy AT oy o HA B 1o
o 7”@ . to VPR ®
I 40® B0 ® ol I
[ )®® B
®®F]®® B BBPY®®
®RY®®
2oes eeidee®
R4 0 0
o 0y 40 ®
(1) 0-1=EOUB’ 0'2=_6ovB EOUB _EOUB
o _uB  —eyoB (1) o4=¢vB on=—¢0vB 2 o1= 5, 727 T
1~ 102 =
2 2 (2) oy = €00 B,O’z _ _EOUB (3) 0'1:0'22602)]3
B) o=0y=¢uB 2 2 —€gvB €0vB
_ —¢guB €ovB ® A=m=quB @ ===
@ == 2 5 g T€00B __ €ouB
@ 5 2 72 2
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16.

A fighter plane of length 20 m, wing span
(distance from tip of one wing to the tip of
the other wing) of 15 m and height
5 m is flying towards east over Delhi. Its
speed is 240 ms~!. The earth’s magnetic
field over Delhi is 5x 1072 T with the

declination angle ~0° and dip of #such that

2
s —3.

between the lower and upper side of the

plane and V), between the tips of the wings

then Vi and V), are close to :

(1) Vg=45mV; V|,,=120 mV with right
side of pilot at higher voltage

(2) Vg=45mV; V,,=120 mV with left
side of pilot at higher voltage

() Vz=40mV; V,,,=135 mV with right
side of pilot at high voltage

(4) Vp=40 mV; V=135 mV with left
side of pilot at higher voltage

If the voltage developed is Vg

16.

Teh Aelg SRSl hl TF s 20 m, T8 o Fdi o

o g 15 m T F91E 5 m T, 3R 7% oot

% S gd-feem § 240 ms~1 fd ¥ IT W@ T

feeett & S geat o1 FrhF-a35x10 5T

%, fefaerrem i ~0° %, qen feu = 4% forar

sinezg%lwﬁ:tr&a—ﬁﬂa%:%a%méa

FR G A F W= V), 9 G |

qad :

1) Vg=45mV; V=120 mV &1 9@-
ﬁ:Rﬁve

() Vg=45mV; V=120 mV 9 4@-
ﬁqT[—ve

(B) V=40 mV ; V=135 mV 1 9@-
fagtve

@) Vg=40mV; V), =135 mV 941 4@-
fgq—ve

16.

13

20 m detd @R1ad, 15 m wiv{lel wdloud (2s
ooyl uiv{laAl Bsiell ofley ctlsyel il
B5L Yell) 241 5 m /2l Gl Rietd 2s doids
[Gunt Eedll yod azs Glel 2@l ©. a-dl aeu
240 ms~1 ©. [edl Gur yeelld 2oisly &t
Y 5x 1075 T W:els dlserait ~0° 241 Sl

N NN \ N\ 2 N
A g A O 5 &l sin 4 =3 Y. o

el 2L 24 Guadl 881 @AV, s/edl

sy i V), ov2dl clleesy oL uivlel 961 o2l

Griurd adl ¢ld dl Vp 24 Vi, 4 yeu

A5 €l..

(1)  Vg=45mV 241 V= wdledl sraell
olisy Glaul clleesy €1 d Zld 120 mV

2)  Vg=45mV; V= diedl siefl cilsy
Glaw sy €t d Ad 120 mV

B)  Vp=40mV; V= wudle-ll sruell cuigy
Gla ey €l d Ad 135 mV

@) Vp=40 mV; V= wdiel stel cusy
Glaul dlleesy ¢l o A 135 mV
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17. A conducting metal circular-wire-loop of | 17. v 5= & 91q FAI-TR-TU FT T53, | 17.  2is Yauss aigd adousiz e, 3 ov-ll Bsdl v
radius r is placed perpendicular to a _ N Do N3 o 3 : : 2
magnetic field which varies with time as B = Bpe /r BN 9RO g qEHE-A S & 2ol At gl il 209 8. =

< . ~N by —t
B= Boe_% , where B, and rare constants, e W T | STl 90 £=0 W B, @1 73T %018'11{ FAUHL U™ B = Bje Ve gL g
at time t=0. If the resistance of the loop is €1 AfS 9 B fa R €, T TR AT ©, Sl By 2A 71 =0 UHA 2N ©. o 249Ul
R then the heat generated in the loop after (t —o0) TSR & 1S 36 4 H U1 g8 Tt @ - 2RI R €4 cdl Yo o @iell qHL (t —o0) -
a long time (¢ —) is: 2 4p4 2id o1l Geut Gy 23l.
T T Dy
1 —
7727’488 M 27R 7727’488
&) o TR
27R 2 4.0 27R
B
@) 7T B
72 r*B} 27R 2R
2 2 —2
27R 2 4.2 27R
By R
@ TI2= 2 4p2
2 4np2
=2 r*B} R T 7 r By R
3) 71 by K 3) 7720
4 2 4p2 7
(4) T T by
o TrE R o T
TR 7R
SET - 03 ENGLISH SET - 03 HINDI SET - 03 GUJARATI

Educational Material Downloaded from http://www.evidyarthi.in/

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREFeE@8tion 15
18. Consider an electromagnetic wave | 18, =i # =l W SEd-grehid o1 o fIq WEl | 18, yriictsieii udll [Qgajosly o el
propagating invacuum. Choose the correct forpe g L. A1miell w2 Beat weis 3.
(1) For an electromagnetic wave (1) +x e o =ferd Sgd-grh T % 1) +x [l ol sl Qeazjeisl dzol
propagating in +x direction the - 1 AA He [atgd &t
electric field is fer E =f Eyz (%, 1) (y - Z), S A
- A /\) E =T Eyz (x 1) (]/ - Z) it
E =E E]/Z (x, t) y—z and the E 1 5 ( t) (/\ /\) 2
= 75 byz (% 1) \y + 2z L O]
magnetic field is V2 4
. . - A A
- (A A) Q)  +x T # =nfe Sega-geE T & B =By (x f) (y " Z) 23,
B:EByZ(x,t)y+z . 1 N /\) V2
, fed E = 2 Eyz (v 2 t)(y + ozl @) +x -l ald sl [Qedesld die
(2) For an electromagnetic wave
propagating in +x direction the 5 1 RN e [q%d ol
electric field is B = 5 By, (y, z t) (y + Z) - 1 (/\ /\) ~
- 1 (/\ /\) E = 2 Eyz(}/f z, )\y + z]  *d
E= 5Bzl 2 Hly+z and @) +y Tewn & =t W Sga-srEen % ot
the magnetic field is oo E _ 1 Eyy (x 1) ]; S A
B=3Byz(y,z,t)y+z - 1 A :
B=—7B8y;(x1: 3) 4y - [t ald sl Qeazesls ol
(3) For an electromagnetic wave V2 Y ®) Y 4
propagating in +y direction the W2 Ry 8 T - % Eyz (x 1) ;
electric field is E = % Eyz (x, t) ;
- A
. . M%g%"lqu=iBZ(x, t) z
and the magnetic field is 2 Y
> 1 A 2l
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(4) For an electromagnetic wave @)  +y e ¥ = W& Jga-geeE S @ +y -Eusi oald s Bydiasia didt
propagating in +y direction the N | R R ) R
f@ F=_"F f 7z, Y2 [Qedsis F = F ¢
electric field is E - L Eyz (%, 1) 2 Noa () 2 4 N (x, t) z
V2
. . . - 1 A . = 1 A
and the magnetic ~ field s B=—B (v 0y ot ol et B = 5 Bz (5 1)
— 1 A
B=—B,(xt
\/5 z ( ) Y 3 2,[5&.
19. T iF &% G SF &t 51 10 e 721
19. A hemispherical glass body of radius TSI 1.5 T | IHH! b1 T8 WA A [ 19, 10cm Al Bt aieicll 247 1.5 aagloteirtis el
10 cm and refractive index 1.5 is silvered A e T ¥ GHAA I8 F 6 cm A ql 1AL 245 2AEPOUSIR L] ets 112l uR 2AiglHl
onits curved surface. A smallair bubbleis & W, TH G&¥ 71 Hl Joden feod &1 7@ Bl g1l 2094 8. adl el wwdlell 6 cm
6 cm below the flat surface inside it along N e . N \
: . . Fh1F-SUOT H o7 1§ Jerdel i Tidterdl g & : A2, e00US1RAL 2igl LI, A8 Setirdl Al
the axis. The position of the image of the N N
air bubble made by the mirror is seen : 10 em yulel adl 218 uR 2¢d ©. 2L glRL ¢l
—= wdleiAl (Alher] 2auq AT
10 cm I 6
<—>I cm 10
cm
6 cm © £ 7
o . I6 cm
Silvered (1) e G0 9 14 cm T 0 L
(1) 14 cm below flat surface (2) HEAA HaE W 30 cm el gl
2 low f1 f ) idR
53; ig cm Eelow ﬂat surface (3) T A ¥ 20 cm T 1) el qwlldl A2 14 cm 2idR
cm below flat surface > Y
T 2)  Alell qwll-l A2 30 cm 2idR
(4) 16 cm below flat surface (4) A& H 16 cm A N N .-
@) A qwlldl A2 20 cm 2idR
@) el qwlldl A2 16 cm 2idR
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20.  Two stars are 10 light years away from the | 20, 31 dR geall § 10 TohRI-9 &I H W1 3Th01 | 20. A izl yeolel 10 usiied g2 ©. dzild
Eaflrtgioj gi‘teli’] ;rediszf;‘ett}:ro‘;%h z;elescgﬁg T ST g S S B, Freen stfvgvas 30 cm e Y210kl 2loteysdlel (cRd-Arad) sl
wavelength of light is 600 nm. To see the 30 cm =9 1§ | TR H TG 600 nm elsiusll R a:u&t 5. sl cma:»ué
stars just resolved by the telescope, the Bl (1 9RR-T9 =9.46 X 1015m)%| efereenry 600 nm &. 2 Y4 dRid just g2l Usdl
minimum distance between them should 3R 37 IRI =l oo fadfed <@ W@ €, 9« (PelfEd 29al) oAl w2 dudl 92 iR
be (1 light year =9.46 x 10'°m) of the order % S 1 0 order ¥ : AL 3] @L% NS
of : ’ — '
(1) 10°km (1)  10°km (1 35121 e =9.46 X 10'5m)
2 108km (2 10%km (1) 105 km
3) 10" km (3 10" km @ 108km
4)  109km 11
4) 10" km 3) 10" km
4)  100km
21. A photoelectric surface is illuminated | 21. T YR HAE T Tee! TR A el SN
successively by monochromatic light of A .. 1
1 AR TURE 1 HhRT STedl Sl gLAR| 21 Wi sl2ldasgls AUl ARisll 24453 A 2t 5
wavelengths A and 7 . If the maximum . o - . )
o 2 _ SCHISIq FeRTI-Feierz hT Aferehad Tfas-Sast aZardend eRledl 215300 usiziell usiRid sanm
kinetic ~energy —of = the emitted T AR # veeh ar # R 3, 79 39w 2l B, oflod Bl ot Gesdct 221853l
photoelectrons in the second case is - 3 ) ]
3 times that in the first case, the work Kl —hc : ey ol Glod ey ot st 9L 21l wadl
function of the surface is : he ¢l dl %L‘-llél-i 4555 %3l
1 A
he @ 31 I
m 3, -
3A he (1) 31
2 _
e @ 3 N
@) 2A he @ 24
e G "
® T 3) =
A A 3 hc ® %
@ 3 hc @) A 3 he
4 _
A @) A
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22. A neutron moving with a speed ‘0" makes | 22, TIfd ‘v’ @ =Tl €A Ueh P Th FeR BEGOH | 22, ‘07 o/eell sssuell alld szl gl 215 RUR 214
a head on collision with a stationary AT, S AT TE-sTewen § ¥, ¥ e LR el GQlort uzagy il el
hydrogen atom in ground state. The . . N N P
minimum kinetic energy of the neutron for S T S| H H T8 =AM TS Kol UL M . il 2RU(R2Uus
which inelastic collision will take place is : A 579 & B W I8 TIR AT B AYSIURL A d U2 Al e a[aGled
1) 102eV 1) 102eV %2,
(2 16.8eV (2 16.8eV (1) 102eV
3) 121eV 3) 121eV 2) 168eV
4) 204eV 4) 204eV @) 121eV
(4) 204eV
23.  Togetanoutputof 1 fromthecircuitshown | 23 fey ¥ ufmyq 1 frim wra w0 & o) sTevs
in figure the input must be : e B AR 23, qglaui gldd ukua we 241G2y2 14 d HLe
Z . o33l deiy2 %3l
Y b a
c Y b
(1) a=0,b=1,c=0 0 a0 peam ) c !
2 a=1,b=0,c=0 () a=0b=1c=
2 a=1,b=0,c=0 1) a=0,b=1,c=0
3 a=1,b=0,c=1
(4) a_o b—() C—1 (3) ﬂzl,b:O,C:]. (2) a=1/b=olc=0
T 4 a=0,b=0,c=1 (B) a=1,b=0,c=1
4) a=0,b=0,c=1
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24. A modulateq signal C, (t) has the form | 24. C, (t)=30 sin 3007t+10 (cos 2007t | 24, “{\ngC-R (2ERARQ) wdl Rrd C,, () 2
Cru(t) 4=o?)0 )51;‘}1 3007t +f10 (cos ?00}71# — cos 4007t) Teh HIgferd Ferier =k eiidr ¥ | Yoror A1 2AsL B. C,, (£) =30 sin 30077t +10
—cos 4007t). The carrier frequency f,, the ST £, rger St g .
modulating frequency (message frequéncy) T e fo . Jo ™R (cos 2007#_ cos 40077t) 53 2ugf £, Q&?ll
f,, and the modulation index u are STSH 0 T (sy@eloy) 2ugft £, 2 Adlsydd 2is
respectively given by : 1 (index) u, 2i4s4 ST R IETON
. (1) f.=200Hz;f,=50Hz; 4=
— . P . = — 1
(1) fo=200Hz;f,=50Hz; 4 =7 5 (1) f=200Hz;f,=50Hz; # =5
) (2) f.=150Hz;f,=50Hz; 4= 3
(2) f=150Hz;f,=50Hz; » == " ) fC=150Hz,-fw=50Hz,-/L=Z
) () f=150Hz;f,=30Hz; £ = 3
- Sf = == 1
(3) fe=150Hz;f,=30Hz; # =~ 1 () f=150Hz;f,=30Hz; u =3
1 4) fc=200HZ;fw=30HZ}M= 5
- Sf = cu== 1
(4)  fo=200Hz;f,=30Hz; # =7 (4) f=200Hz;f,=30Hz; n=7
. , 25. i SHHM % K0 T F oel o @l 8, 3 SHh
25. A particle of mass m is acted upon by a force R
Y aaﬁ i = — i N\ R N
F given by the empirical law F = t% U(t). T\a—a STE‘! wa% F t2 T)(t) ERRE 25. m gUL YUYl 5L F= t_2 U(t) a Q"l'jﬁﬁdl
If this law is to be tested experimentally by & FT % fer fee sereen & o1 aﬁ Tt i1 F oAl 2142 2601 8. ol 211 Ao~ (A3 wlfls
Ebserving the mlot-ion starting from rest, the &0 (Observation) R fFefafad & 9 % Aq, sl ol Rz G2 23w A
estway s to plot I el wn? st i ol A 3 el wd)
(1) o(t) against ¢ 1) 2% faEs o) [Aseu 2.
1
inst 1 1) o) Brea 2
(2) logv(t) against 2 @ = % fores log o(f) 1) () =} 1
3) log v(t) against ¢ =
() logu(t)ag @) 3 g log o(t) ) logu(t) e 3
1
() logo(t) against | 1 3 log ot) Bact ¢
gu(t) ag ; @ s log o) (3)  logo(t) I
1
@) logo(t) [Rea n
SET - 03 ENGLISH SET - 03 HINDI SET - 03 GUJARATI

Educational Material Downloaded from http://www.evidyarthi.in/

Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREFeE@8tion 20
26. A thin 1 m long rod has a radius of 5 mm. | 26, 1 m @i Yqet © H B 5 mm 81 FT| 26. 1 m diotl 211 5 mm Bsell dRickdl 215 idoll
A force of 50 7kN is applied at one end to Tread e % fod 39 % ff W50 7kN WOl ©. ddl £z FulRAusdl 2s
determine its Young’s modulus. Assume . ) o~ -
that the force is exactly known. If the least <PT STt <A T qﬁﬁﬁw RREN B%F'ﬁ (421 1{\5%(—{%'[) el Hlé' L 2As 8§L Gz
count in the measurement of all lengths is Fd 81 Afc awdl & "I9S ko STewi 50 7kN 61\(8% GOl QUL 2419 ©. Q}t% UL %
Q(;l lmm? which of the following statements 0.01 mm g1 7@ 79 § § &\ T Fe Tora 2L o] Yt w2l Kd WgH B, ol dotdel
e g7 el oy WAl dgry WY 2l 0.01 mm €
AY ~ N -
1) y  gets minimum contribution M ATY 3 S 1 3 dll AR sl & (et vl el ?AY
from the uncertainty in the length. 5 (1) dendHl 22llssda 518l a Ul dyy
(2)  The figure of merit is the largest for L ! N o
the length of the rod. ) B H TS o T Terdies Tod ag[%| SLL 2l $2U.
(3)  The maximum value of Y'that can be (3) Y 1 A W ¥ wH e A ) Al doud w2 eadis (figure of
determined is 107 N/m?. 104 N/m2, merit) el qR 2.
ar : : I 3)  Hadl usid dell v oAl dedu Buad
4) gets its maximum contribution AY R ( N
Y (@ - Wl T AT 1014 N/m? 23\,
from the uncertainty in strain.
SR ¥ AY . .
(4) o M ueHd st (s [anl 2¢a
RRIECTEEIETENRR
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27. A galvanometer has a 50 division scale. | 27, T fiearIHiet i Thel 50 i A& €1 ol | 27, Sleadd{lezat 50 stu1 . cizglHl 2Aidlks el
Battery has no internal resistance. It is ®1 aiafts  gfatiy = 20 afg Y B. sl =2400 Q Q1 B R Aeddnfler
found that there is deflection of 40 divisions ) o . c o~ A
when R =2400 0. Deflection becomes R=2400 Q & @ fa&q =40 wm g1 =fg Ul 40 st (divisions) Yell, 2itetciq w9,
20 divisions when resistance taken from R=4900 Q & T fa9& =20 9 21 o« &4 sedR ieRle UELHiRll 4900 Q sf2dl slzami 209
resisance box is 4900 £ Then we can | - frsffes e 5 ¥ B cul 20 divisions ¥2q, et 24 B. dl
conecmde: . UL ARQL 2l sl 3
R F\/\/WN‘—‘ R
© ©
| ‘| () I | ‘I () |
|0 2V [——0)
2V 2V
(1) Resistance of galvanometer is 200 (). o) * %200 0% 1) dlealeAl 2114 200 Q €2l
(2)  Full scale deflection current is 2 mA. (2) Po-Thd f9ET < fd qRI2 mA € ) H\Q[_Q}Ja wd U2 Ml 2 mA €3l
(3)  Current sensitivity of galvanometer (3) TSI Bl R HEAGTIE 20 1A @) dleddidlezdl  weug  wdledl
is 20 A/ division. gfa qm ¥ R
(4) Resistance required on R.B. for a frlr — . 20 A/ division #RL
deflection of 10 divisions is 9800 (). (4) =10 ¥ R =9800 Q). (4) 10 divisions c}}a% 2gd ANYdlL R
. ’ 244214 UL 2R 18] 4 9800 Q a2,
28. To determine refractive index of glass slab | 28. <9 1 TS Tl - HIESHIEERT R ST
using a travelling microscope, minimum TehTer & fordl et aredienl it =[AdH He - < - - -
number of readings required are : s 28. guadbi ?{L%L%L’l{-—ﬂ weeell AL 2l
asloiadis el W 2ol 2oL o33l
(1) Two a
(2) Three (1) wdlsidl v L.
(3) Four @ = 1 9
4) Five (3) = @ A
4 T (B) AU
(4)
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29. A reali‘stic graph depictil?g the V?riatif)n of | 29, W& LI HT common-emitter (CE) | 29.  2is 23222l common emitter (CE) {4414
the reciprocal of input resistance inan input srfferme  frorr-stfremerforen arem fofenm e | Sz g5l 12 Sz HieRibrL el Hiol
characteristics measurement in a common- .
emitter transistor configuration is : o Frer-gferier < ok < e § § - g citetlqls Als &L,
o1 I 3 R 2
1 -1
— @7 1 0-
7 1 -1 & Q-
A n 0.00 f--mmmmmmmmmmmmm e
1) 0.01 f--mmmmmmmmmmmme oo (1)
(1)
0 v 0.6(V) 1 : o : 0 0.6 1
BE . AV \V4
Vir (V) Be (V)
% @ 1 1 1
1 -1 1 —
1 T @9 2 @
2 1) 0.01 posmsg-mmmmmmmmmmoeoees
@) (2)
0 0.6 1
Ve (V) 0 0.6 1 0 0.6 1
Ve (V) Ve (V)
o @ o Q=9
(3) 10
, 3) 10 3) 10
0 0.6 1 , ,
Ve (V) 0 0.6 1 0 0.6 1
Ve (V) Vie (V)
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@ @ @
0.1 pzzzmmmmmeemn e R | 0.1 pzzzmmmmmeemnmemn e
0 0.6 1 0 0.6 1 0 0.6 1
Vg (V) Ve (V) Ve (V)

30.  The ratio (R) of output resistance rp, and | 30, ferefl gifsrex ®1 faw-fafa srfuemerfores | 30, gllsrerdl §ye 24 206B2ye dEil@isdi
g‘le llﬁp:;(gesgi?“flet ré}llr;rrg‘iziriiesnff Oaf e % fad g fefu-ufdy () @ HuAUL 2UB2Y2 2RI 1y i GrY2 BRI 7,
traI;lsistor is typiEally in the range : frerer-gfatr (r;) % U (R) T AAM Al @Qﬁdie (R) of2ell 2oyl ¢ .
(1) R~102-103 (range) %WI ? (1) R~10%2-103
2) R~1-10 (1) R~102-103 2) R~1-10
3) R~0.1-0.01 2) R~1-10 3) R~0.1-0.01
4) R~01-1.0 (3) R~0.1-0.01 4) R~01-1.0

4) R~0.1-1.0

31. The volume of 0.1N dibasic acid sufficient 31 0.IN SlAls AR 58 2 62U s o 1 g Aol
toneutralize 1 g of a base that furnishes 0.04 [ 31 1N TEeTRI ST ST TG =11 21T i 1 T 12215201 S HI2 YAIH QU S syl syelld gl
mole of OH ™ in aqueous solution is : TR FrF St faetad § 0,04 Tt OH— 0.04 WA OH~ 219l 8 7
(1) 200 mL 21 SeTdE T 5 ford T 2 (1) 200 mL
(2) 400 mL 3 S0 @) 400 mL
(3) 600 mL @) 400mL (3) 600 mL
(4) 800mL () 600mL 4) 800 mL

(4) 800 mL
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32.  Initially, the root mean square (rms) velocity | 32, e foRI% A9 W URE | LS AT (N,) | 320 AR drid w, a32udsi, N, 2w9p2i-l
of N, molecules at certain temperature is u. 3 of 5
If this temperature is doubled and all the &1 o " e o u 21 afc 39 a = g 2;[?%‘&[ PR (root m'ean square) (rms) q Lu
nitrogen molecules dissociate into nitrogen F e S iR |eft Aedem o1 o 8. ol AL clluHlr “1HY] (Doubled) 52l 2419
atoms, then the new rs velocity will be : BIh IS YLHT] & ST ol T4 7 /e dl o8l oy Algglord A2l (Qelloyt Adglov-t
1) u/2 T o BT AL &A1 dll, el A R 1L PO (r11s)
2 2u 1 u/2 SERIEH,
G) 4u 2) 2u Q) u/2
4) 14u () 4u 2 2u
4) 14u ©G) 4u
33. Aqueous solution of which salt will not 4) T4u
contain ions with the electronic :
; . 33. Tor® <1a o STefta foreem H 1522522p03523p° N
configuration 15?25°2p%35?3p® ? et Fomer 3 q_ﬁs_m.: PP 33, dasiiRs Rum 1522522p63523p6 6l sl
(1)  NaF g ' g, svell gletel 24l dRietdl 6l 7
(2) NaCl (1) NaF (1) NaF
(3) KBr (2) NaCl (2) NaCl
4) Cal, (3) KBr (3) KBr
4 Cal, 4) Cal,
34. Thebond angle H-X-H is the greatest in the
compound : 34, fom AifiTer § H-X-H 3T o1 gaffaess €7 | 34, sl 2idloytil H-X-H olavel qetlfls © 97
1) CH, 1) CH, (1) CHy
(2) NHj 2) NH, (2)  NHj;
3 HO 3) H,0 3 HO
(4) PH, (4) PH, (4) PH,
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35.  If100 mole of H,O, decomposeat1barand | 35. =fg H,0, % 100 HIel 1 bar 991300 K W | 35. 1 H,0, < 100 ¥ldt 1 4R (bar) 244 300 K W
%0(2 Ij'aghiet g(or;‘nj‘;r;e S‘r{ )stbi’];’;e r;;‘;ﬁl‘r’j oS A1 T 1 bar @ & fodg 1 At stfardtsH [Geld 2 dl, 1 R (bar) gougiL (€366 1
e & P & P o Toreid 8 T fohan gam &Rl (kJ ©) BT e O,(g) At [Rctzil 2euqt dleL a3d 51 (KJ)
2H,0, (1) = 2H,O(l) + O, (g) 2H, 0, (1) = 2HyO(l) + O (g) el
(R=83]K~1mol 1) (R=83JK Tmol~1) 2H0; ()= 2H,00) + Oz ()
(1) 62.25 1) 6225 R=83]JK~1mol~1)
(2) 12450 2) 12450 (1) 6225
3) 249.00 (3)  249.00 (2) 124.50
(4)  498.00 (4)  498.00 (3) 249.00
(4) 498.00
36. Anaqueoussolutionofasalt MX,atcertain | 36 fopd} fode amq W, Tk To0r MX, ¥ ST oG 1
t ture h 't Hoff factor of 2. o B 36. 25 (A drsid w2, &k MX, AL evdl
of the salt is : forerar = feru ferrst = g - N ALY NN '
GLAQLAL COLE NN
1) 033 (1) 033 1) 033
2) 050 (2) 050 ) 050
3) 067 3) 067 3) 067
4) 080 (4) 080 4) 080
37. A solid XY kept in an evacuated sealed | 37. e g (Hies) faifaq a o war 71 31 XY 37. s oid (sealed) PR (evacuated) Wi
container undergoes decomposition to forrfed S ¢ ’ X N
form a mixturegof gases Xp and Y at N T'lT'ZIT;I'{?ﬁﬁ@[ XH%]TYW%ﬁW'UT AL 2094 9 (solid) XY [Aedld &6 T
temperature T. The equilibrium pressure Il & | 39 91 H H < 10 bar 1 29 cluHIA C{Lg%ﬂ-j} (sl X 24 Y ¢l ©. 240 v
%s .10 bar in this vessel. K, for this reaction Hfufshan = fera K, BT 2l £419L 10 bar (“UR) . 241 kL U2 K,
is: 1 5 465
@ 5 2 10 1) 5
2) 10 (B) 25 @ 10
G) 25 4) 100 @) 25
() 100 (4) 100
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38. Oxidation of succinate ion produces | 38, Hferqe S < SRR & T qe e | 38, UlsUriz 2Arietrl A2l SR 24 s10i
ethylene and carbon dioxide gases. On TrRatES Y ot €1 dieforem wfee & SRISAUSS il Gourt A B, Wiz R
passing 0.2 Faraday electricity through an h S
aqueous solution of potassium succinate, \_rl?fﬂ'q faer § 0.2 e forera yanfed Eh‘{ﬁ ki A5tz svelld gl 0.2 518 (Aot Wi
the total volume of gases (at both cathode 91 &1 Fel A (KT T THS S W) s3cll, STP W (1 atm 24 273 K) 24 iyl o
and anode) at STP (1 atm and 273 K) is : STP (1 atm eI 273 K) W 21T : $4 5E (32l 24 DAL odAl uR) 2l
(1) 2L 1) 224L (1) 224L
(2) 448L (2) 448L (2) 448L
B3 6.72L (B) 6.72L B3 6.72L
4) 8.96L 4) 896L 4) 8.96L

39. Therate law for the reaction below is given 39. < e stfuferan & ferw < frm k [A][B] | 39- A2t 2 ulea el Ctjl— [imq k [A][B] <4s¢s
by the expression k [A][B] Siveh & e TR S § ol sl (expression) 53¢ ©.

A +B = Product A+B > A A+B - dluy
If the concentration qf B is increased from AT 517 0.1 ¥l T 7@ gu AR B A -l Aigetl 0.1 mole (3iet) v 24 oA B Al
0.1 to 0.3 mole, keeping the value of A at Higdl 0.1 ol qenld 03 A szeuwi 20 dl
0.1 mole, the rate constant will be : 1 W=l 0.19 derht0.3 Hied T &1 I B |l 3 ol ) 7
1)k R feerdian 2 (1)‘”2*;{’”3 YRt
@ i Mk D
@) 3k @ i )
4) 9% (3) 3k (4) ok
@) 9% @)
40. Gold numbers of some colloids . S 40. 525 slAdinl 2els (oles AeR) 24l UHSL ©.
: 40. B HIAES! & W@oifs 7, feefed . N N
aAre b: Gf)lil;m 0:2§ .00015 : O'(()) %)'4 G;l I(;l ?005 off ™ L fas %o 15 - 0.25 At (Gelatin) : 0.005 - 0.01, o6 »&ls
rabic : 0.15 - 0.25; Oleate : 0.04 - 1.0; . - 0.01, : 0.15 - 0.25; L N yan
Starch : 15 - 25. Which among these is a affeue : 0.04-1.0; T : 15-25, g:rﬁﬁ:[_ (Gum  Arabic) : 0'15; 0.25; “llaxie
S8R &fl I B 7 . -
(1) Gelatin il sl Al adRl WL Ed slAa © 7
(2) Gum Arabic (0 1) @Al (Gelatin)
(3) Oleate (2) T W @) ot 230 (Gum Arabic)
(4) Starch (3) eiferee () i@z (Oleate)
4 = i (4) Rl (Starch)
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41.  The following statements concern elements | 47, {1 e 37refd dfcrehl H Sufeerd deell @ wwaifed | 41, <Al2AL [©al 24cdsiatiqL delld 2ieifEd .
in the periodic table. Which of the HEEE I k- ARl 54 w12 S 7
following is true ? ) ) . N < -
(1) Al the elements in Group 17 are () 7917 ¥ q+ft 7=l 71 € (1) e 17 MLt o crell Al ©.
gases. @) J913 ¥ meft o ¥ (2) U3y 13 UL HHL oy crell gl ©.
(2)  The Group 13 elements are all metals. @) 715 3 Tl 1 g § G e €) 29d4 "-’{i(—t%ﬂ:l WY 15 -l dealAl
(3)  Elements of Group 16 have lower 9 16 3 e § AP T F M AL A3 16 AL creeliedl M2 2adlsel
ionization enthalpy values compared aeeel] 208 B
to those of Group 15 in the FH Tl ¥ - o .
corresponding periods. @) 915 ¥ T ¥ forg, o F i oW w @) AUYS 15 Al drell He, UL Al oy
(4) For Group 15 elements, the stability 15 STTRITHIOT ST T TN wedl dd +5 2AU[sA3UA 2Rl RURAL 948
of +5 oxidation state increases down o) ] .
the group. l
. y . 42, 3gla8L (smelting) gL MR+ (sl s3cll euid
42.  Extraction of copper by smelting uses silica | 42. WifeeT gRI hiul < Treshon 4§ fafersht 454 & Gy Ei{[(:t sl g@)qe.ﬂat -ﬂ§ Artisfl o 52 seel
as an additive to remove : ®q H = ° 9 formen gem & fau =5t St € 2 N
ISR
1) CuyS 1) CuyS ) Cus
(3) FeS (3) FeS (i) Ees
2 4 Cu,O
43. Identify the reaction which does not S N A oo - . .
liberate};lydrogen: 43. 39 SHfRaN 1 TR T TS IWO | 43yl 2lonll ol 3 i 6ernt Gesiet
(1) Reaction of zinc with aqueous alkali. T E . 2l el
(2)  Electrolysis of acidified water using (1) it &m < we ik <t stfwfshan 1) svelld 2uesdl-l Als el wla
Pt electrodes. Q) e SOERIE! H N R e @) Pt Sas2dl Guadlol 5303 BARlss el
3) Allqwing a sglution of sodium in el o1 fered Taere @% AlRetsy-
liquid ammonia to stand. . “ - .- - -
(4) Reaction of lithium hydride with () =a st § Hifeam & foaerad o fier 3)  ueél 2R URAMAL gl vl
B,H,. B % fag Big o ol &9
4) B,H, % 91y TigIH TEg;ES &1 (4) B,Hg RN RIS éL?S§L&§6-—ﬂ s
SIRIER
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44.

The commercial name for calcium oxide
is :

44. HfeeTy IS H HEHTS 9 ¢ :

44.

28

Sealla 268, Azl AREL AL 2L,

' , , (1) Tirch @it omed 1) gl YAl (Bies 25 @) (Milk of
(1) Milk of lime lime)
i 2 W N N N
(? i¥ake‘1t lime (3) (2)  $Rel Yl (Slaked lime)
imestone A N
©) s ) (3) ™l vAR (Limestone)
(4) Quick lime 4) o omH N o
@) sl Yl (Quick lime)
45. Assertion : Among the carbon
auo“f’pes' diamo;‘d isan | 45 HAT: IO ok THET H, SEHSFACD | g5 guuy + grofiell og3ul, €RL 2 2ielss ©
insulator, whereas, ' B = -
oraphite is a good ::TWW IRTEe T el gearer SR Aside B Byl yelgs S,
conductor of electricity. | 5161 1 Rl 24 Asideul slei sel
Reason : Hybridization of carbon hIUT : THA-S qd1 YHES § FEA 6 Q){.}é’}.{ sp3 @i sp? .
;r;;harr;;?d m;i grap?;tze HHTT FAA: sp’ T 5p? €| (1) 5% 2t SRELGinl A2 B, 2l 5REL A
respectively. (1) A TATHRO < W T A1 R her st HieAl A2l %t‘iﬁg(cﬂ .
(1) Bothassertion and reason are correct, i TR AT T | (2) 5 DA SREL Cir UIRAL O, USL SR8 B
andl thtei fefasct’}f: is t}t{e correct (2) Y T HRO SHI T § TReg FR, sl Wizl 212l iyl 2.
O AMATHOT TOT TS assertion. e i el AT T ¢ | (3) 5L B e Qe B, welL 5REL Uy
(2) Bothassertion and reason are correct, N
but the reason is not the correct (3) TR FEH & T FRU T T o.
explanation for the assertion. (4) A q° HR 2T & T B | (4) sut 2 SRQL GiA AU, D,
(8) Assertion is incorrect statement, but
the reason is correct. 5 N N
Poa— el 46. ¢ [Ceuq 2l el
(4) Both assertion and reason are = Fo ’ 1§ S | i Eereiell Hiss Het2ioLl B
incorrect. (1) IS 1 W& S, ATHHE ¢ | E; Z\F NS \l[ir'lﬁ '.s
, 2 RELFAS A HIALSALAS UESMUL
46. Identify the incorrect statement : (2) frrss (fowmasne) o A 2Rl ’
(1) S, is paramagnetic like oxygen. TR H Sg &1 <l (3)  Sg el 2R Wiz (516-1) el B.
(2) Rhombic and monoclinic sulphur (3) Sg AT T TR e FTE@ TN 8 - . . -
have S¢ molecules. . (4)  Sg 1 Sy AMIHL S-5-5 A4 gl
8 (4) S, TS, Tl H S-5-S &4 IV Teh N A
(3) Sgring has a crown shape. @}% ¥ 6 PSR O.
(4) The S-5-5 bond angles in the Sg and
Sg rings are the same.
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47. Identify the correct statement : 47. G2 hYF h TBAY : 47. Q{L%' Qe 0L
(1) Iron corrodes in oxygen-free water. (1) SToRA SHerfo-Tad Sfet & Hefa 2t (1) 2 (dlvis) ;,ﬁ@aﬁy,i_&3d reflui
(2) Iron corrodes more rapidly in salt 3 A 3
. . | &k A ©.
water because its electrochemical ) ) ) o~
potential is higher. (2) A STt H SR o<t & Herfid g (2 gtreuou wellui e (divie) ver o
(3) Corrosion of iron can be minimized T HiifR s forega Tt fawa 5= Bl gl wx © sREL S ddl
by forming a contact with another T @%ﬂmlﬁl[@ﬁ Ye(Ra Gl ©.
metal with a higher reduction CoN N s SUENEN
potential. & (3) ST <l GOl gHeh! S ST foIel (3) A ((‘m’{s)\ 3 EIREL SR -l ”,193
(4) Corrosion of iron can be minimized el ¢Tq o FFeh § T W A foran S 6_1% ﬂs&ﬁ\q}é@mﬂ m\tqcﬂ flg
by forming an impermeable barrier Thar g | Aub s2al Ay 53 wsiu ©.
at its surface. T T e T e e 4) A (cﬂws)\g %tl%k?r,ll‘% a:n ' w’t{a’l W
3T & YRV, ARIY, ALl 2A1E 52U AU
48. Which of the following is an example of SR T foe S e 2 8.
homoleptic complex ?
48. 7= ¥ § #F FHifes® (homoleptic) HFd N Con e
(;) {gfﬁf:?’)i]:ﬂ?’ - . (homoleptic) 48. 1A dariuidl sy wis ¢ldiarels
@ (NHy),CL, T ST B (homoleptic) Airlsdl 24sleld GelseL © 7
(3) [CO(NH3)4C12] (1) [CO(NH3)6]CIS (1) [CO(NH ) ]Cl
(4)  [Co(NH,).CIICl, (2)  [P{NH,),CL)] Oy
5 e @) [P(NH),CLy)
. : : 3% 2 (3) [Co(NH,),CL,)]
49. The transition metal ions responsible 4) [Co(NH,):CI|CL,
for color in ruby and emerald are, (4)  [Co(NHy)sCl]Cl,
respectively : . . . . N .
(1) Cr3* and Co®+ 49. el T FANCS # %r"[ HRHT IS ' 49. Qs (Ruby) 24 Yol (emerald) -l 2l W
(2) Co3* and Cr3+ I gfeafd 3 HROT T B T, F A T orllelER 2sild alg 2Addl 25 R
3) Co3t+ and Co3+ (1) Cr3* qarCo3+ QUL
4) CrPtandCr*t (2) Co3* aamCrd+ (1) CrP* 2 Co’*
() Co3* auMCo®+ (2) CodtuACr3t
@) Cotamcst (B) Co’* 2 Co’t
@) Cr3t At
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50.  Which one of the following substances used | 50,  gréardtf=m# woye =t uerell § | fermem Wi | 50, gasellbril {12 2uten ueieluidl s 2is-l
in dry cleaning is a better strategy to control ST FEul 3 oo st Siea shrdf Afa @ 2 Guallol clctierRefl ugHeR el szes ay
environmental pollution ? et B 1
(1) Tetrachloroethylene (1) TR 3&[&[3{\8 NN
(2) Carbon dioxide () A SEsEES (1) egisdlidllan
(3) Sulphur dioxide (B) TR TEAHES (2)  stei splsugs
(4) Nitrogen dioxide (4) eI TEeES (B) U SRASUIGS
0 (4) Azl SRISAUSS
51. Sodium extractis heated with concentrated
; . BASE W % Hifeaq TR & .
HNO; before testing for halogens | 31 B el S 51 Qellsyeledl 524121 s2cll udel AU 245 (extract)
because : WHNOﬂD.a?FITH‘]ﬁWGTﬂT%EPﬂW: . . N
(1) Silver halides are totally insoluble in 1 fyeer %(_*ﬂg_&' Tefzw ot | Tﬁ-{@m &g HNO; AL owat s 2 skl
nitric acid. @ Y \ 5.
(2) Ag,Sand AgCN are soluble in acidic ) 1) Rieaz ¢adst Adzls 2Rl Q{Q\QE Aa
medium. (2) ol WIS H Ag,S A1 AgCN gl B,
2— - s 3 ~ . ~
@ S and CN7, if present, are ﬂﬂ‘ﬁ’ﬁ?{ gl @) RS WEaH Ag,S 41 AgCN glet
decomposed by conc. HNO; and (3) afs S2— g CN - Sufeed ¥ o W oL B
hence do not interfere in the test. 3 frefoa & o & vt o ’ )
(4)  Agreacts faster with halides in acidic HNO3 i il (3) o ST 2l CN™ €l €l dl Hig
medium. H FEE Tl B | HNO, ol Bzt 2 &, dsll wdlawomi
(4) 3Tdrg Tem o faor, SoEl % Wy (512140) guieeldl s2ai -il.
EEERIERIETIEY @) DARRS weanri Ag Al ulba sl w1l
SRR
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52.  Bromination of cyclohexene under | 52, = o 7 wfcrerel  Hacied HareA [ 52, wiusdlésofldd alfddud 2uda -l
conditions given below yields : e WBERRIM 56 ey 24Ul 7

@ B/l @ Br, /I @ Bry/hw

Br Br Br
1) ¢ (1) (1) ¢
Br Br Br
Br Br Br
) (5 @) dj ) (5
Br B B

: r

. O)/B o Oj& ®) O:Br
Br Br Br

o (L o (L, o (L,
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53.  Consider the reaction sequence below : 53. = &t 8 sifufsren A W foem Sifaw 53. 12 2uud Uil s3 e Al
OCH, OCH, OCH,
Succinic anhydride = Clemmenson's e TeEeES FUGTE ~ N
AlCl, " reduction X X AlCL, > A e »X X Q{@QSAT;:@{'S%?S‘S > A 3(‘[2::'-[3 X
3
is: ¥, X e 7
OH OH
H,CO H,CO OH
H,CO

1) (1)

(1)
OH OH
OH
OCH.
3 OH OCH; OH
OCH; OH

(2) @

(2)
OH OH
OH
OCH
3 OCH,
OCH,

®) 3)

®)
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H,CO H,CO H,CO
4) ) 4)
54.  Which one of the following reagentsis not | 54, foeiom s1fufsrar & fau =7 1fysreni & ¥ | 54 A2 2aiol] sdl wlus 2 R wba e
suitable for the elimination reaction ? BT SR T Y2 YU ol 7
Br
e d X N Br - X e Br P
@ NeOR/ERH () NeOH/1;0 2 NaOE/EOH
(3) NaOHt /HtO EtOH (2)  NaOEt/EtOH 8 NZOHt //Ht O-EtOH
(3)  NaOH/H,0O-Et (3) NaOH/H,O-EtOH O
(4) Nal @)  Nal 4)

55. The correct statement about the synthesis . - 55. PETN -l oi-lazul auzidl dRlylela
of erythritol (C(CH,OH),) used in the | 55 PETN & H W eiferdied (C(CH,OH),) (C(CH,OH),) -l @awal Az 5 Qe 202
preparation of PETN is : o YU & Y H 9e hUA R 89
(1) The synthesis requires four aldol (1) eror H T Fe WA 3 o= W) (1) dane w2 Badd =0 $adad @

Zig e?;ﬁgfns ctween methano T HEA i SATERIRA ol & | AR AU Helrrtdl 2UucRIsAL SU B.
(2) The synthesis requires two aldol (2) T H S Teerel e e S AR (2)  HAMQIL A 2UIY Heirdd 24 A S{ARL

Condgnsaﬁons and two Cannizzaro srfuferan =it Sea Bt B UL RISl ©.

reactions. (3) wewn § 99 Teerd S a9 T (3)  ArANSML AR Hedld Hord 2 B
(3) The synthesis requires three aldol W SEREN W SN ENESY Y PmEl bl ~

condensations and one Cannizzaro e l RLA .E-LL'-l PUARSAL D

reaction. (4)  TH @Afafsran & T % STeh eReS @) i UL SAAIAAL 2AUesL GSGlert win
(4) Alpha hydrogens of ethanol and T WIS 91T ol © | Rl oL @ 9.

methanol are involved in this

reaction.
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56.  Fluorination of an aromatic ring is easily | 56, foeft wiffifeer aer o1 FITT A & | 56, 516 2RALs adud sdifnai wer o ugeudell
;a;ic:hmglggefi 1‘)/\}/7 }’Eli‘iitlr(l)gf at(}illeazfo(?llll(l)r:visig Tud Bl § Afc ST SRUSIIH g0 h UMY S B, WL?& Al SRAAAMMH &R HBF,
conditions 16 correct about this reaction ? HBF, % e EREIITG] ﬁw S | 39 SAfufsha B UL sl 209 ©. GuRAL Wb Hie &AL
(1) Only heat & gy ¥ frefafea § @ g gitfafa il 5§ YRR el © 7
2) NaNO,/Cu SUIH §? (1) g5 Gl
3) Cu,0/H,0 (1) et o (2) NaNO,/Cu
(4) NaF/Cu 2) NaNO,/Cu 3  CuO/H,0
(3) Cu,0/H,0 (4) NaF/Cu
57.  Which of the following polymers is (4) NaF/Cu
synthesized using a free radical 57. w2l 2uilartiol su egas AANeL 2 Ysd Yds
polymerization technique ? 57. frefatad § 4 SH-91 9ga% I9 qF otgellszel dsellsl Guallat 5913 sl 2udL B
(1)  Teflon TEABIHTT TITY BRI YA feparm Sfrer & 2 7
2)  Teryl N
@) ery er‘le 1) TUAT (1) é{s(‘ll."l
(3) Melamine polymer SBR
4) Nylon 6,6 @ e () ekidt
() R TgoE (3) AW otgas
58. The “N” which does not contribute to the @) T 6,6 @) AMdA 6,6
basicity for the compound is :
6 58.  a%“N” S et it o ema wafa H Amrem | 58, N7 5 o 2Ad 2ol AAlsal oudt ddl
T, TR A2l o elciell,
N\
8
2K > 6 6
N\
L \>8 2& >8
1) N7 A
() N9 3
3) N1 Q) N7 1 N7
4 N3 @ No 2 N9
@ N3 4 N3
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59.  Which of the following is a bactericidal | 59, {71 # & sF-¥1 SRR gesiforsr €2 | 59, dlaA-iel 53 245 cAseau-ius uldeel=i
antibiotic ? (1) TRemEEe (antibiotic) & ?
(1) Erythromycin S 1) SRyl
(2) Tetracycline 2 = @ < 0\
(3) Chloramphenicol (3) FANTHR{TRTA @) a;\lmjliﬁ rl\
(4) Ofloxacin @) m@__’ 3) sARAS(As1A
4)  2sdlsARA
(4)
60. Observation of “Rhumann’s purple” is a 3 N A
confirmatory test for the presence of : 60. N T;:Eﬁjam W[_\SE;:H?@:” 60. “3uirl @A‘i&’l@[”(“\{ﬁ(—t) (Rhumann’s purple)
(1) Reducing sugar ’ wiedls 2 [RRUus sU1EL AlRAAiel si-l lavl
(2) Cupricion 1) ST e %1\-’2{3{ S 9
(3) Protein (2) P S 1) sudlb wsa
(4) Starch (¢) TURH @) splls 2uuq
4) ®wH (de) 3) Ml
61. Let P= {#:sind — cosd = /2 cosf} and 4 el
Q= {#:sind + cosfd = 2 sinf} be two | 61. AT P= {6 :sind — cos® = /2 cosf) a
s;ts. Tl;henQ: (O-rey Q= {0 :sind + cosd = /2 sind) 3 61. IRl 5 P={f:sinf — cosd = /2 cosh}
-1 # . ~ N
22; QZ Pan a‘a?nrq%, @ d Q= {f:sinf + cosd = 2 sind} o
@) PzQ (1) PcQUIAQ-P=x¢ AV O, dl :
@4 P=0Q 2 QP (1) PcQx1Q-P=zd¢
B PzQ 2 Q«P
@ P=Q () PzQ
4 P=Q
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62. If x is a solution of the equation, | g2. 3fe FHIFH 62. i HHlsR0L
1 1 N N\
\/2x+1—\/2x—1=1,(x25),then \/2x+1_\/2x_1=1,(x2%j1 F1 2 \/2x+1—\/2x—1=1,(x25j.-u:)13
2 s N ~
V4x~ — lisequal to: @W%,??IMW%: Gax®, dl Jgu2 1= IoN
3 3 3
@ 3 O 3 O
1 1 1
@ 3 @ 3 @ 5
@) 2 (@) 2 @) 2
@4 2v2 RN @ 242
63. Lech ;1 +gi be a (iompl]ix nt’;‘ﬁlberila >0, 63. W®M z=1+ai,a>0THh 'Q'{:ﬁ iy 9 % 63. HRLSz=1 +ai,a>0, 25 ] 153 AL O §
such that z° is a real number. Then the sum ! R ’ ~ . ~ ~
142+2+ .. +21 is equal o fF 25w aredafas g £, @ A o Ul 23 cldlds Mval wd. dl U4l
’ 1+Z+22+ ..... +Z11W%: 1+Z+Z2+ ..... +le = Y.
1) -1250+/3i ’
(1) —1250 3 i (1) —1250 V3
(2) 12503 '
2) 1250 V3i (2) 1250 3
(3) 1365 /3i '
B) 13653i (3) 13653
4) —1365+3i '
@) —1365 3 (4) —13653i
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64. Lgt A be a 3x3 matrix such that| 64, AT A, 3x3 FT TH TAT AMHT ¢ fh | 64 GRL 5 A 25 3x3 4[5 & 5 2l
A“—-5A+7I=0. A2—5A+7I=O%| A2_5A+71=0.
- 1
S1: ATl = (61— A). 1 _ 1 1 _ 1
Statement - I 7( ) wHaT-1 AT :;(5I_A)- B -1: A7! :;(5I_A)-
Statement - II: The polynomial -
A3_2A2_3A +] can be HAT - I1: 9898 A3—2A%2-3A+1 =1 Qe - I1: aguel A3—2A2-3A+1
reduced to 5(A —4I). 5(A —4T) ¥ afafda foram ST Sk 5(A —4T) Hi 3uidRd 31 usA ©.
Then : gl dl .
(1) Ste;tci:ment—l is true, but Statement-II @, 1) [Beud-T ucu 8, uiq QeA-TT U O,
is false. e N N
(2)  Statement-I is false, but Statement-II 1) A - [ § Ak oA - [ TEA G | )  [Aeun-T 24ucd B, Wid [QaA-TT uct ©.
is true. (2) U -1 THA 8 Ao HIA - [ FA S| 3)  olr Qe uc 8.
(3) Both the statements are true. (3) <RI e T E @) oid Reudl i S,
(4) Both the statements are false. . .
@) 3w o §
~ -4 -1 ~ ~
4 - 65. of A= ,odl sl
65. If A= 3 1| then the determinant of . Atz A [—4 —1} 3 A Aoy 5 1
= ©
' 3 1 ’ A2016 2015 A2014) o] [Az1s
the matrix (A2016 — 22015 A2014) jg . ( - )
1) 2014 (A2016 —DA2015 _ A2014) T FRU © : .
@) -175 (1) 2014 1) 2014
(3) 2016 @ -175 (@) —175
4) -25 3) 2016 (3) 2016
4) -25 4 -2
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1’1+2C 1’1+2C . -~ 1’1+2C N N . .
66. If —=¢ =11, then n satisfies the [ 66. afC —=0 =11, & @ n F= & ¥ T | 66. ot —=0 =11, dAln Ll &4 w2
Pk R R
equation : HHIRTO 1 R HIAT © 2 AU
(1) n*+3n-108=0 (1) n2+31—108=0 (1) n2+31—108=0
(2) n*+5n-84=0 2) n2+51—84=0 2) n2+51—84=0
(3) n?+2n-80=0 3) n2+2n—80=0 3) n2+21—80=0
4) n*+n-110=0 @) n2+n—-110=0 @)  n2+n—110=0
67. If the coefficients of x =2 and x~% in the 18 18
. 11 \18 67. AR (x3 4+ Ll (x>0, FTERF x2 | 67. oh 17 4+ Ll , (x> 0) AL [Qrazemi x—2
expansion of (x3 + _1j , (x > 0), are oyl ot
2x§ AN N\ N N
) , m 2 x4 Al HELRISL A 2 1 S o),
m qol x4 F TONR FHHAIM: A 4 T, A —
m and n respectively, then o is equal to : n m. .
1) 182 € o |
(1) 1) 182 1) 182
4
© y 4 @ =
( 5 5
5
6 o 3 6 -
4) 27 a §
@) @) 27 @) 27
68. Letay, ay, a, ... L0, .. be in A.P. If . . - .- .
y+a,+a,, +ays= 72,nthen the sum of its | 68- Tl ay, a,, a3 e Y - Teh HHIAX Q'Gﬁ q % 1| 68. @RS ay, Ay, A3y .. P HHLAR %Qﬂ?-ll O.
first 17 terms is equal to : g ay+a;+ap+a;s= 72 %, ql Sk 9o 17 s ay+a,+a; +as= 72, Al deAl M2 17 YElAlL
1) 306 &I 1 AT TR § MR YL,
(2) 153 1) 306 1) 306
(3) 612 2) 153 2) 153
(4) 204 (@) 612 (3) 612
4) 204 4) 204
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10 10 10
69. The sum Z (r2+ 1) x (r!) isequal to : 69. IR Z (r2+ 1) x (r!) SRR T : 69. (r2+ 1) x () =
r=1 r =1 r =1
® an @ an ® an
(2 10x(11) (2 10x(11}) (2 10x(11)
(3) 101x(101 (3) 101 x (101 (3) 101x(10")
4 11x(11) 4 11x(@11) 4 11x(11)
70, lim — = cos2x)” is : 70. lim — = cos2x)” TR 70. lim — = cos2)” _ _
xr—0 2x tanx — x tan2x x—0 2x tanx — x tan2x xr—0 2x tanx — x tan2x
1 -2 1 -2 1 -2
_1 _1 _1
® -, ® -5 ® -,
1 1 1
) G 5 G 35
4 2 4 2 4 2
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71. Leta, beR, (a#0). If the function fdefined | 71, HAMT4, beR, (@=0)1 Ife e f s, = g/ | 7. Q3L 5 a,beR, (a#0).
as RIfa ®
2 ﬁ 0< 1
27 , 0=sx<1 ﬁ <1<t o Usx<
VS @ BAn f)=1a , 1=x<42
flx) = ”2 , 1sx<i2 fx)=1 a , 1=x<+2 2h%—4b
2b°—4b \/§< < oo 2b2—4b 3 , \/ESx<oo
3 =7 — V2=x<e X
o . 10,9, th * BRI [0, o0) UL el 4, dl sHY5A oA
1s continuous 1n the interval |0, =), then an . . _ N
ordered pair (a, b) is 34?'?'2 [0, o) # |G T, T Tk BT TH @b=_ %
,b)T:
0 (21— ) “ )( | M (21 15)
) (V2,1-+3
O (E1e B . @ (214 )
2
O (2 -1+5) @ 2100 O (2 -1+ )
3 2, —
@ (1) @ W2 af e @ (-2,1- )
@ (=v2,1-8)
72.  Let f(x)=sin*x+cos*x. Then f is an . . 72, URL S f(x) =sin*x + cos*x. cl AlRA-isll sa
increasing function in the interval : 72, t":" f(x)’: siny+costx 8, 1 F11 # & v {ARUAUL f 948 Qe & 7
_ A | f Th IHHH e § 2 i
1) 0, %[ 1 ) 0, Z[
i w Pl -
@ %, %{ lar o (2 Z, Z[
| o [ 5[ J4" 2
o) ik 577": i I7 5
2’8 = 5 @) 9’ _l:
| o |5 ?[ 12778
Sm 37 57 3w
@ g T[ 57 37 (4) ’ _[
o =3 oot
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73. Let C be a curve given by |z gmcumEm IS ()= 1+ VA= 3, |73 W@l B s C By (x) =1+ JAx - 3,
3 . .
=1+ 4x -3, x>>. IfP t , N e
y () TT Ny apom x> gRITER ¥ 1A C R PuF v fag ¥ >3 griEuldd 8. ot C W s DA Big P &
on C, such that the tangent at P has slope 4 4
2 then a point through which the normal for PO i<l ¢ Tt Y ) e % RIS % el [0 P 24019141 2uslsell a1y % o, dl P
at P passes, is : foig forad P i o Afireia TeRar g, © 210l 2A(Gdot [Ciguisll wai 2
1 23 1 23 o.
@ @ -3 2 @ -3 1 23
@ @7 ¢ @7 2 @ -3
@ G -9 @ G -9 @ @7
@ G -9
74. The integral o i 1| 74. T dx ENELE
. e mtegra 1S equa . M
A+ ) -2 T (1+ ¥x) Vx - 22 o dx _
to: o (1+ Jx) Vx — 22
o: (ST&T C U THThe 3TeR ¥ 1)
(where C is a constant of integration.) N (sl C wiseriedl 2105 H.)
1+ Vx
1+ Jx n -2 +C
1) —2)—F+C 1-Jx Ly LtV
1-Jx - @ 1-Jx
11— +x
- 2 -2 + C
2 —21 ﬁ+c @ 1+ Jx n o L=YE
11— +x
_ 3 - +C
3) —1 ﬁ+c ©) 1+ Jx . _1—\/E+C
+ X \/_ ( ) 1+ \/;
1+ Jx
1+ x @ 2 +C
@ 24— tC€ 1-x 2 LtV ¢
1—x 4) 1- Jx
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75. The value of the integral 10 10
2 2
10 ) 75. HHTHT <] , =it | 7. |#*] -
(%] dx | where [1] [x2= 28v + 196 | + [+?] [x2= 281+ 196 | + [+?]
%= 28x + 196 | + | +?] X i
4 [x], x ¥ H AT x % I FEqH UTh &, sedl [x] 21 x @l Al 2l x A AU U
denotes the greatest integer less than or 9% - yeusia 2l el yeuls gula o.
equal tox, is: 1) 6 1 6
(;) g 2 3 2 3
(3) G 7 ¢ 7
G 7
1 “4) . (4) 5
@ 3 3 3
. . . . 76. «x R,x;tO,%FfFIE, TS y(x WQ’W@W
76. For x € R, x # 0, if y(x) is a differentiable € . y(x) 76. shxeR, x#0 M2, y(x) 2% [QsadAl €Oy %
function such that N
X X
x x x X ol x[y@)dt=(x+1) [ty @)dt, «l
x[y ())dt = (x + 1) [ty (t) dt, then y(x) [y (dt=(x+1) [ty () dt & @y ) { {
1 1 1 1 y(x)=
equals : ' O T (st C 22101 8.)
(where C is a constant.) (STeT C T 3T=R B 1)
1
1 cC -~
c - 1 o —e
(1) e X (1) E o x ( ) » e
X x
C —_
Cc - _1 2 —e ¥
(2) _2 e * 2 £ e X x2
§ o 1
1
C -~ C .=
3) —&e * Cc —= B —=e *
®) 3 3) x_3 e X x>
1 1
= 1 =
(4) Cx3 eX 4) Cx3 e; (4) Cx3 ex
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77. The solution of the differential equation d
t o d t .
&y e 77, el T Y+ Loseer = 2wt | 77 Rsa wllsror Yo+ L oseer = B i
—~ 4+ < secx = ——, where 0 <x < 2, de 2 2y dx 2 2y
dx 2 2y 2
and y(0) =1, is given by : 0Sx<%%ﬁmy(0)=1%,7ﬂ3?'f%2 Osx<%, 214 y(0) =1, -l G54
al ®.
=1- -
L v secx + tanx 1 y=1- . S—
secx + tanx x
x mnHy y=1- ———-
() y2 =14 —— 5 X secx + tanx
secx + tanx 2 yv=1+———
secx + tanx 2 X
x (2) y =1+ ——
@ y=1-—— ) x secx + tanx
secx + tanx @B y=1-—"——
secx + tanx 2 X
x @ y=1-—
4 y=1+ ——— x secx + tanx
secx + tanx 4 y=1+ ————
secx + tanx x
@ y=1+ secx + tanx
78.  Aray of light is incident along a line which .
meets another line, 7x—y+1=0, at the 78. W il Tk fohTo1 Tk Ya ki feen # m -
point (0, 1). The ray is then reflected from g S TR T 3@ Tx— y+1=0 & fag | 78. USRI 25 (BReL UL 7x—y+1=0 W 2UUd
this point alonfg ;he'lme,fy+.2x= 1. T;hen (0,1) R figereht &1 =18 fereon fir 5 foig @ 4 B o [l (0, 1) 2P HA B, ARAIE 24
f;; ‘jffl‘ffgt;j;?s‘? the line of incidence of the Y+ 2x=1 1 feen & wRafda 2t 8, @ et gl =i Ciguisll Wil 28 2wy +20=1
(1)  41x—38y+38=0 TRTYT h FoRT hT TR § W2 3¢ ©. dl 2 (01 wls2e
2) 41x+25y—25=0 (1) 41x—38y+38=0 v.
(3) 41x+38y—38=0 (2) 4lx+25y—25=0 1) 41x—38y+38=0
(4) 41x—-25y+25=0 (3) 41x+38y—38=0 (2) 41x+25y—25=0
(4) 41x—-25y+25=0 (3) 41x+38y—38=0
(4) 41x—-25y+25=0
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79. A straight line through origin O meets the | 79, e faig O & Brert ST el Teh el w@n @t | 79 Gruldy O il war adl 2As 3w, 2wl
lines 3y =10 —4x and 8x +6y+5=0 at 3y=10—4x T 8x+6y+5=0 F1 FA: 3y=10—4x » 8x+6y+5=0 A il
points A and B respectively. Then O L~ . . ) . NN .
divides the segment AB in the ratio : foigsfl AT B W ﬁwrcﬁ g, @ fig O vEmEe (G520 A 24 B 4L HA S, dl O 2L AMS AB A
1 2:3 AB @1 59 oqud # faufsa a1 €, a8 - el [Aeer 52 8.
2 1:2 1 2:3 1 2:3
G) 4:1 @ 1:2 2 1:2
4) 3:4 G) 4:1 3) 4:1
4) 3:4 4) 3:4
80. Equation of the tangent to the circle, at the
point (1, — 1)rfo}11056 Ce?‘t;e i1§ the pointof | g9, 3 v fSTTHT Fs WA WS x—y=17T | 80. o brg Yot x —y =1 247 2 +y =3 - Deloig
;r:gr;‘f;’i SOiSt_ e straight lines x—y =1 2x +1 =3 1 Yiqese fig &, ® foig (1, - 1) W Q. Qe adad g (1, —1) 2ApnL ugls
() dxtry—3=0 Wit T2 T9 W1 BT GHERT € w520 8.
) x+4y+3=0 (1) dx+y—3=0 (1) dx+y—-3=0
(3) 3x_y_4=0 (2) x+4y+3=0 (2) x+4y+3=0
4) x-3y—4=0 (3 3x-y—4=0 ®) 3x—y-4=0
4) x—3y—4=0 4) x—3y—4=0
81. P and Q are two distinct points on the
parabola, y*=4x, with parameters t and t; | 81. PdN QW 2=y R A A FgT | 81. P 214 Q WRedd 12=4x W 2uddl A (Gt
respectively. If the normal at P passes e TTeIet ShES £ d9 £, §1 AfE P e Clgall & oot Wl 2isd £ =47 £, . ot P
.. 2
through Q, then the minimum value of #; T SAfireta Q W Bt S, A 47 1 = 1l 2Ade Q il Wz Al G, il £
Z) ) AT o et Yeu 5.
o 4 a 2 M 2
G 6 Q) 4 Q) 4
@ 8 @) 6 G) 6
4) 8 4) 8
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82. A hyperbola whose transverse axisisalong | 82, s eifquac, fHu®T oTUEd 21a1 Wiha | 82, 215 »iladad oAl wvd wa Alsa
2 2
. . X ye x2 ]/2 . x2 y2 N N
the major axis of the conic, —= + - = ?+I=4%ﬁ‘qﬁamaﬁfa‘mﬁ%am b T A U MR R D L
and has vertices at the foci of this conic. If forerss ¥ wa wial @ v W ) A REIBIE=L =1 wisardl ufoel w 6. o
3
ici = 3 ‘ 3 N P
the eccentricity of the hyperbola is 5, then SHftTReer 1 Skl o €, T e § | el Gebrgat - @, dll ARl &
which of the following points does NOT . . .~ ~ o~
lie on it ? &P o1 foig 39 W feord & €7 (S5 drtt ur 2094 A€l & ?
M (0,2 1 (02 1 02
2 (5, 22) 2 (V5. 22) @ (v5 22)
@) (+10, 243) @) (V10, 243) @) (V10, 243)
@ (5 2v3) @ (5 2v3) @ (5 2v3)
83. ABC is a triangle in a plane with vertices | 83. U HHIA T T ﬁ[% ABC & TS 39 | 83. s Uuddyl 215 [Bsiel ABC . sy« @L@l@g@l
A(2c,1 3 5’2},1]3( - i 22) andf(& 511 M)(-1 If tie AQ2,3,5), B(—1,3,2) TC(A, 5, w) 1 afE A(2,3,5),B(—1,3,2) 211 C(A, 5, 1) O. ot A
e B lf:jlutg to‘} A B ST i v sl W wHH gl Alsoacll ueapu Arigi w8 23 29 zda
(B4 43 15) s - ' TR G, dA (B + 2 +5) FAA T : 8, dl (A + 3 +5) -l Bud .
1) 1130 1) 1130 1) 1130
2) 1348 ) 1348 2) 1348
3) 676 B) 676 (3) 676
4) 1077 @) 1077 4) 1077
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84. The number of distinct real values of A for | 84. o 98 fy= ardfas AFT 1 & 56 N e~ x—1 — 2 L4143
1 u—2 .43 84,  wel R vl =i ==25
which the lines al = Y = z m i‘@"r@' x—1 — y— 2 — z+ 3 GREI 1 2 A
1 2 22 1 7 22 )
i ¥ =3 V=2 2= 1 gy a
and  XZ2_ Y- 2_ 271 g x=3 _y=2_ 2= gumim % oo
1 A 2 1 A2 2 del A Al (Gt aRalas Budidl dqva
coplanar is : (1) 4 )
(;) ‘11 @ 1 1 4
(3) ) G) 2 @ 1
© @ 3 @ 2
@4 3 @ 3
85. Let ABC be a triangle whose circumcentre 85. M A,BC,QEF ﬁ[‘ﬂ?ﬂ i PREI -~ s BaLoL D e i S
is at P. If the position vectors of A, B, C qﬁ'ﬁ"gﬁ A, B, C e P o feafa wfew shwr: | 85. 3\lRL f ABC 15 jlflu O o Uiks \P A l(il
I e N ©. ol A, B, C 2l P Al 2l 2iqsd
- 2 = . E) o -7 a+ b+ c x
and P are a, b, c and 2+ 92 * € a, b, c aM LT 0T € q g™y N > 5 >
4 . 4 a, b, c wA AtV Gy ey
respectively, then the position vector of the % T - s I Feufd Afcw § 4
orthocentre of this triangle, is : .\ N [Bsioirl dodegnl 2kl .
S5 S 1 a+b+c N
1 a+b+c 1 a+b+c
a4 b+ c
e 2 _|=& + N
(2) _|latb+tec 2 @) a+b+c
2 - 2
® 0
%
B 0 G 0
R
e 4) a+b+c NN
@) a+b+c 5 (4) i+ b+ c
2 2
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86.  The mean of 5 observations is 5 and their | 86, 5 Jefull = | 5 8 qUT ITehT THOT 124 €1 | 86. 5 teiellselldl Ueus 5 2t (201 124 ©. ot
variance is 124. If three of the observations af < & 6 Jam 1, 290 6% A1 7 sit otell et etdledl 1,2 243 6 4, L Rl
are 1, 2 and 6 ; then the mean deviation -
from. the mean of the data is - 1 T | e faee © weusf] AR [Buaq A,
1) 24 1 24 1) 24
2 28 2 28 2) 28
B 25 B 25 (@) 25
4) 26 4) 26 @) 26
87. An experiment succeeds twice as often as | 87. T WA & Whel B 1 HAN SHh fohet | 87. s Mol ofedl ovid 2R4501 A © el o
it fails. The probability of at least 5 B ok HA G € | T T % 6 i ARl s A B. Bl UAIAL & Wcil
is:.ccesses in the six trials of this experiment ¥ 9 %9 Y &9 U9 F B 89 F Gl sl #ie] 5 usadl el dewsHl
R 8.
1) 240 240
g 240
729 M 1 —
729 799
) 2 192
ke 192
729 @ 9 @ o
729 799
3) 226 256
79 256
729 G o G) =
729 799
4) 296 496
779 496
729 @ 79 Oy —
729 729
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88. If A>0, B>0 and A+B= % then the | 88. @fe A>0, B>0 94T A+B= % 2, 1|88 e A>0, B>0 24 A+B= % Sl dl
minimum value of tanA +tanB is : tanA + tanB 1 =9 HH g tanA + tanB - Yrid¥d Y .
M B-\2 M B-2 M B-2
@ 2-43 2 2-43 2 2-3
B 4-243 B) 4-243 B) 4-23
2
I - 2 2
@ 5 @ 5 @ 3
89. The angle of elevation of the top of a | 89, fsig A T, Sl Teh HEEeR HAR gﬁtﬁ AR - .. . .
yeigifalrljcﬁwer f1iomf a {)oin;c' A, dlfl(te }fait of i’; %\-’ TR % 9 F7 ST F07 45° B 1\3@" B, 89. Q:tés E‘Z\R@L(—li'{ Z\HQ-{[ ‘j\cj cl;f-ll @i% A[\?aﬂ\ 8[‘;{&:-1'1
1s 45°. The angle of elevation of the top o : ; R 2lRAAL BAasIQL 45° ©. (eg A -l SlERL 2dd
the same towe from a point B, due south | 9 S AFROAL Az AmE A A 0 TS
of A is 30°. If the distance between A and 01 30° 7| AT AT B < Y @ N . . . '
Bis 54+/2 m, then the height of the tower 544/2 i, %, ql H9R =t gﬂlé (. #) T Z{‘i ;(q{:‘%lj{)i’)td-? 542 m\ Sk, ol el
. . 1O (Hle™L O.
(in metres), is : 1) 363 -
(1) 36v3 @ 54 1) 363
2 54
(2) 54 6) 5403 @)
() 543 4 108 () 5443
(4) 108 4) 108
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90. The contrapositive of the following | 90, 1= wud =1 gfduATHSR (contrapositive) | 90. ARl [C\{ﬁtlrti ARl el 3@ 87
statement, % . N NN CoN o~ .
P . : ‘ o 518 ARl ety o3l sl 2u9, dl d
If the side of a square doubles, then its area " e N Ca S
increases four times”, is : e o il gﬁ”il & S, T SE FASAL L2104,
(1) If the side of a square is not doubled, AR I T A S 1) ot sl 2ARUA oley o HQIL s A 2419,
then its area does not increase four 1) Ife T o i il gﬂ?ﬁ 9 &l 9, a1 al 311 @tﬂ.‘g“l AR a9l AR,
times. THT THA [ STal A 218 Q2 & i i 219
. R A1 T e 2) st =R Betso 212019 R 219,
(2) If the area of a square increases four 2\t el ot B & S NN S
times, then its side is doubled. 2 & . gﬂ ¢ TG, b el ottsy epell e,
(3) If the area of a square increases four TS S @ ! (B) oA slg @R%i g5 ARG, AURAH
times, then its side is not doubled. 3) gﬁ;}w Ecucol %ﬂ'qw_c:r;lzﬁgﬁ'“ﬂ ECSIEL 2019, dl al otlsy ool o U,
4) If th f d t , <1 SHhI I I N A . s . .
(1) If the area of a square does no 3 , (4) ol 518 AR FlAs ARG AURAUUL
increase four times, then its side is not 4)  af e ot ot Aot =R T e N
doubled. N ot T:ﬁ?ﬁw i 2419, ol drl ety ol A e,
3 Sl §7 i |
-00o0- -00o0-
-00o0-
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